il bersagliere ha cento penne

J=160

Fo”l
1
1

[

'Iﬂ
1

FiC)

F”AC)

T
1
1

For)
1

+5

+5

+5

+5

+5

+4

+3

cen to pen ne

ha

e

ber sa glie

B

-5 +5

+6

-5

+5

+5

+5

+5

+4

+4

+4

una

ha

ne

no

pi

I'al

(=

16

T=a

-6

-6

-7

+6

+7

+6

+6

U

nes

ha

ne

no

gia

ti

par

ol
1

ok
T

3

-

+5

+6

+6

+6

+6

+5

+6&

+6

reg - giar

guer

sul mon

sta

(=

na

+6

+6 -

-6

+7

+6

+6

+5

na

su

nes

ha

ne

no

gia

ti

par

il |
1
1
il |

=

i
1
|
T

.:'D
1
L

+5

+6

+6

+6

+6

+5

+6

gilar.

reg

guer

tia

sul mon

sta



